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Question Number : 136 Question Id : 226895671222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If the protons and electrons are the only basic charges in the universe, all the observable charges have to be integral
multiples of e. Thus, if an object contains x electrons and y protons, the net charge on the object will be

.-+ ye
2Z.x+yle
3.x-ye
4.(y-xe

Options :

2268952602238. 1
2268952602239.2
2268952602240. 3
2268952602241. 4

Question Number : 136 Question Id : 226895671222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

gi¢ geiis | dad WieH 3R ScacH ol g a9 &, dl 9yl Ueiiy s1azl &f e &1 Sifird 10 gH1 diiet| 39 USR, 3G
el avg # x geiae A SR y IRl €, ol 8% WX e a2 gim

l.-k+yle
2.x+y)le
3.(x-y)e
4.(y-xe

Options :

2268952602238. 1
2268952602239. 2
2268952602240. 3
2268952602241. 4

Question Number : 137 Question Id : 226895671223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A charge of magnitude 3 x 107 C is located at a distance of 0.03 m from a point P. Obtain the work done in bringing a
charge of 2 x 107 C from infinity to the point P.

1.6x10%)
2.6x102)
3.6x 107
4.6% 107

Options :

2268952602242. 1
2268952602243. 2
2268952602244. 3



2268952602245. 4

Question Number : 137 Question Id : 226895671223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

GRETT 3 x 107 C BT A TP g P Y 0.09 m @ G R YA B 2 x 1079 C & A= B 3 4 fdg p b o H fbuw
@ @I [ DI

1.6x10%)
2.6x% 1072
3.6%107)
4.6 % 10%)

Options :

2268952602242. 1
2268952602243. 2
2268952602244. 3
2268952602245. 4

Question Number : 138 Question Id : 226895671224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

In a series combination of capacitors connected across a battery

1. each capacitor has an equal charge for certain values of capacitances only
2. each capacitor has different charge for a certain value of its capacitance
3. each capacitor has equal charge for any value of its capacitance

4. each capacitor has different charge for any value of its capacitance

Options :

2268952602246. 1
2268952602247.2
2268952602248. 3
2268952602249. 4

Question Number : 138 Question Id : 226895671224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

U6 4 & SR-UR Yaiford Genfaf & us Joft-w0 o

1. 4T & Pad Hid JFI & U Ul 41iia IR U 99H G 6ldl &
2. 41 & U FAifEa 7 & foe udie duiis WS- 2erT e aid &
3. Y1ifYar & Tt off A & fore vde 9enia )R 99 6§l &

4. TR o fdt i 99 & U U@ TuTRa OR 3{erT-ar S99 8idl &

Options :

2268952602246. 1
2268952602247. 2
2268952602248. 3
2268952602249. 4

Question Number : 139 Question Id : 226895671225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Two point charges, 4 pC and -3 pC (with no external field) are placed at (-6 cm, 0, 0) and (6 cm, 0, 0), respectively. The
amount of work required to separate the two charges infinitely away from each other will be

1.091
2.0.181)
3.-09)
4.-0.018)

Options :

2268952602250. 1
2268952602251. 2
2268952602252. 3
2268952602253. 4

Question Number : 139 Question Id : 226895671225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

@l fdg Mg, 4 pc SR-3 pc (@41 [ a1 & &) &I HHE: (<6 cm, 0, 0) AR (6 cm, 0, 0) U [T ST & | GHFT ATl
& TP gue ¥ AR gl | quaH & e siava® &Y &t 5 it

1.091
2.0.181)
3.-091
4.-0.0181

Options :

2268952602250. 1
2268952602251. 2
2268952602252. 3
2268952602253. 4

Question Number : 140 Question Id : 226895671226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If the net flux through a cube is 1.05 N m? €', what will be the total charge inside the cube? (Given : The permittivity of
free space is 8.85 x 1072 CZN"Tm™3).

1.929x 107" C
2.927 %1079 C
3.922 %100 C
4.929 = 10712 ¢C

Options :

2268952602254. 1
2268952602255.2
2268952602256. 3
2268952602257. 4

Question Number : 140 Question Id : 226895671226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



e U@ 97 © §ia) oA d1dl -2 Wi 1.05 N m?2 ¢ 8, @ 99 & ofg gouuf 3iram fova g (e man & Falq @
qUdGgdi® 8.85 x 10712 2N m2 )

1.929x 107" C
2.927 = 10719¢C
3.922 %1079 C
4.929 x 10712 C

Options :

2268952602254. 1
2268952602255. 2
2268952602256. 3
2268952602257. 4

Question Number : 141 Question Id : 226895671227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A parallel plate capacitor having plate area 200 cm? and separation 2.0 mm holds a charge of 0.06 uC on applying a
potential difference of 60 V. The dielectric constant of the material filled in between the plates is.

1.0.113
2. 113
113
4.113

Options :

2268952602258. 1
2268952602259. 2
2268952602260. 3
2268952602261. 4

Question Number : 141 Question Id : 226895671227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

% GAR e T, et udie ufEs &1 890 200 cm? 3R TRIE 2.0 mm §, 60 V & favard &1 sygad
@ TR 0,06 pC BT AT 4RO Bl & | gz dref & 79 & 2R T yer &1 Waggdi® &

1.0.113
2113
3.11.3
4.113

Options :

2268952602258. 1
2268952602259.2
2268952602260. 3
2268952602261. 4

Question Number : 142 Question Id : 226895671228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The electric potential due to an electric dipole

{A) depends on r, where r is the magnitude of position vector

(B) depends on the angle between the position vector 7 and the dipole moment vector p
(C) falls off at long distances, as 1/r 2

(D) does not depend upon the distance separating the charges

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (Q) and (D)

4. (B), (C) and (D) only

Options :

2268952602262. 1
2268952602263. 2
2268952602264. 3
2268952602265. 4

Question Number : 142 Question Id : 226895671228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

T faggd fayd & el faggd fava

(A) r IR R a1 8, &l ¢ T widwr 7 o1 uiAm 8|

(B) T wfew 3R faya oimeul Ofewr 5 & Hed & Iv W (3R drar g
() dell gRAT IR 1/r 2 b TYH RT3

(D) TG DI TYF B dIen g3 W MR T8l axdi &

ta fGu e fae eyl H 9 e I -

1.@dd (A), (B) AR (D)
2.%dd (A), (B) 3R (O
3. (A), (B), (C) R (D)

4.%ad (), (C) AR (D)

Options :

2268952602262. 1
2268952602263. 2
2268952602264. 3
2268952602265. 4

Question Number : 143 Question Id : 226895671229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Two point charges placed a distance d apart in vacuum exert a force of magnitude F on each other. One of the two
charges is doubled. To keep the magnitude of force same the separation between the charges should be changed to

1.2d
2.d/2
3.42d
4.d/\2

Options :

2268952602266. 1
2268952602267. 2
2268952602268. 3
2268952602269. 4

Question Number : 143 Question Id : 226895671229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

falq ¥ gt d T gy gl fig Sa=l U ga R IRl F @1 U 9a SRIT0d B 6| GiHl 8 4 Ud HTa=I & GRAT B2
fear 5irdl 8| 9 & YR ol YU W@ & U a2l & did & urdey o U ufafda # fegr o afey

1.2d

2.d/2
3.v¥2d
4. dN2

Options :

2268952602266. 1
2268952602267.2
2268952602268. 3
2268952602269. 4

Question Number : 144 Question Id : 226895671230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Conductors develop electric currents in them

1. on applying electric field

2. on placing the conductor in the magnetic field

3. on applying gravitational field only

4. on applying the magnetic field and gravitational field

Options :

2268952602270. 1
2268952602271. 2
2268952602272. 3
2268952602273. 4

Question Number : 144 Question Id : 226895671230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



drce! 1 fdgyd YRI1E 397 &l Sl &

1. faGTd &7 Sgad o W

2. 9100 & geoig & H ¥d S W)

3. Bad Hyg &7 SFUIE B W

4. JaDIY &F IR THiY &7 SHgdd HH W)

Options :

2268952602270. 1
2268952602271. 2
2268952602272. 3
2268952602273. 4

Question Number : 145 Question Id : 226895671231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Resistivity of a conductor depends on

1. its material and the dimensions of the conductor
2. its material and temperature of the conductor

3. the dimensions of the conductor only

4. the temperature of the conductor only

Options :

2268952602274. 1
2268952602275. 2
2268952602276. 3
2268952602277. 4

Question Number : 145 Question Id : 226895671231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

% 90 &) Ufaiuddl AR ol &

1. 916 & Uar 3R Iu@! gl |
2. 9@ & Jard R aHH |®

3. Had I @1 fagre &

4. Had IA® & dIHH W

Options :

2268952602274. 1
2268952602275.2
2268952602276. 3
2268952602277. 4

Question Number : 146 Question Id : 226895671232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



In the (i) absence of electric field, and in the (ii) presence of electric field, the paths of electrons between successive
collisions with the positive ions of the metal, are

1. (i) Straight line, (ii) straight line

2. (i} Curved, (ii) straight line

3. (i) Curved, (ii) curved

4. (i) Straight line, (ii) Curved in general

Options :

2268952602278. 1
2268952602279. 2
2268952602280. 3
2268952602281. 4

Question Number : 146 Question Id : 226895671232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

(i) facga e ot Ui &, SR (i) fagge &7 & Sufufa &, urg & 4 1e® Sg=l & 91y Saae-l & sitd U5 & 99
Y Bl §

1. (i el am, iy Sieht Y

2. (i) @, (i) It

3. (i) I, (i) TP

4. (i) et 3@, (i) T, WEEG:

Options :

2268952602278. 1
2268952602279.2
2268952602280. 3
2268952602281 4

Question Number : 147 Question Id : 226895671233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A resistor develops 800 J of thermal energy in 20 s on applying a potential difference of 20 V. Its resistance is

1.200
2.100
3.4000
4.050

Options :

2268952602282. 1
2268952602283. 2
2268952602284. 3
2268952602285. 4

Question Number : 147 Question Id : 226895671233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



TS UiRIY® 20 v AYaR & SHIed S W 20 s T 800 ) AT Sl &l o &2 ddl & | 9T Wiy 8

1.200Q
2.100
3.4000
4.050

Options :

2268952602282. 1
2268952602283. 2
2268952602284. 3
2268952602285. 4

Question Number : 148 Question Id : 226895671234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A wire of resistance 4 Q1 is used to make a coil of radius 7 cm. The wire has a diameter of 1.4 mm and the resistivity of
its material is 2 x 107 Q m. The number of turns in the coil will be

1.70
2.40
3. 140
4. 20

Options :

2268952602286. 1
2268952602287.2
2268952602288. 3
2268952602289. 4

Question Number : 148 Question Id : 226895671234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

7 cm 301 31 T HUST Bl & & 171 4 0 UR1E dlel T AR 1 JUdRT 31 oiidl 81 dR &1 39 1.4 mm & 3R 38d
Terd @ WfaRIE®ar 2 x 107 Q m B 1 39 PUsal 1 B @I G- el

1.70
2.40
3. 140
4. 20

Options :

2268952602286. 1
2268952602287. 2
2268952602288. 3
2268952602289. 4

Question Number : 149 Question Id : 226895671235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



A battery of emf 12 V and internal resistance 3 Q is connected to an external resistor. If the current in the circuit is
0.6 A, the voltage across the external resistor will be

1.102V
2.17.0V
3.120V
4.13.8V

Options :

2268952602290. 1
2268952602291. 2
2268952602292. 3
2268952602293. 4

Question Number : 149 Question Id : 226895671235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

faq0d I18® §d (emf) 12 V SR 3ffd® UfRIY 3 Q B Ud ded] Us alel UiaRIy® 4 Gaiford 81 afc 39 ulvoy T &RT 0.6 A
2, d 9 URRIYS & MR- UR dlees sl Tl

1.102V
2.17.0V
3.120V
4.13.8V

Options :

2268952602290. 1
2268952602291. 2
2268952602292. 3
2268952602293. 4

Question Number : 150 Question Id : 226895671236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A uniform wire of resistance 12 Q is cut into three pieces in the ratio of length 1: 2: 3. Now the three pieces are

connected to form a triangle. A cell of emf 8 V and internal resistance 5 Q is connected across the highest of the three
resistors. The current through the circuit is:

T.4A
2.24
3.05A
4. 1A

Options :

2268952602294. 1
2268952602295. 2
2268952602296. 3
2268952602297. 4

Question Number : 150 Question Id : 226895671236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



UicRIE 12 Q & U UThGHF dR I 1: 2: 3 & U H diF sl H ®Iel ofidl 6| 3d diFl ghg Ud Ay a4 b fed
Yaifera fou oi1d & faggd 918 ® a6 (emf) 8 v 3R ATIR® UieRIe 5 0 &1 U@ Ud, a1 UfeRie®! § § Swaad UfeRiad 1R
Taifora fepan ST 8| oy F vaifed ¥R S

T.4A
2.24
3.05A
4.TA

Options :

2268952602294. 1
2268952602295.2
2268952602296. 3
2268952602297. 4

Question Number : 151 Question Id : 226895671237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A bar magnet of magnetic moment 5.0 A m? has poles 20 cm apart. The pole strength would be

1.20Am
2.30Am
31TAm

4.25Am

Options :

2268952602298. 1
2268952602299. 2
2268952602300. 3
2268952602301. 4

Question Number : 151 Question Id : 226895671237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

50 A m2 GE@ G AU 10 U BS 98® § ydl @I G4l 20 cm &1 4G WEcd ghTl

1.20Am
2.30Am
3.1TAmM

4.25Am

Options :

2268952602298. 1
2268952602299. 2
2268952602300. 3
2268952602301. 4

Question Number : 152 Question Id : 226895671238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-1l

List-1 List-1I
(Physical Quantity) (Units)

(A) Magnetic field mit?

(B) Magnetic moment ()T mAT
(C) Pole strength amJTim?
(D) Permeability of free space (V) Wb m™2

Choose the correct answer from the options given below:

T.(A) - (v), (B) - (1N, (C) - (1), (D) - (1)
2.(A) - (), (B) - (1), (Q) - (), (D) - (1)
3. (A) - (). (B) - (1), (C) - (IV), (D) - (1)
4. (A) - (V), (B) - (), (©) - (0, (D) - (1)

Options :

2268952602302. 1
2268952602303. 2
2268952602304. 3
2268952602305. 4

Question Number : 152 Question Id : 226895671238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

-1 BT G-I & 1Y e B

-1 -1l
(Hiferss wifEn) (ATA®)

(A) T &F mIT?

(B) TG AT Tma'l
(C) Ya e (amJT ' m?
(D) i &1 ga@iiaa (IV) Wb m~2
4 feu 7 fawedl & 9 Wel TR -

1. (A)-(V), (B)-(I1), (©)-(um), (D)-(1)

2. (A)-(V), (B)-(1), (Q-(1), (D)-(11)

3. (A)-(11), (B)-(1, (C)-(1V), (D)-(111)

4. (A)-(IV), (B)-(11y, (©)-(1). (D)-(11)

Options :

2268952602302. 1
2268952602303. 2
2268952602304. 3
2268952602305. 4

Question Number : 153 Question Id : 226895671239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



A long wire with a small current element of length 1 cm is placed at the origin and carries a current of 10 A along the
x-axis. The magnitude of the magnetic field, due to the element, on the y-axis at a distance 0.5 m from it, would be

1.4x108T
2.5x10°8T
3.6x10°8T
4.2x10°8T

Options :

2268952602306. 1
2268952602307. 2
2268952602308. 3
2268952602309. 4

Question Number : 153 Question Id : 226895671239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

1 cm T5ETs & U oY YRT Ha9d & I1Y U o] iR Jol-faig U= 3617171 & AR T8 x-3f&1 & S 10 A &1 R & de-
Sl &1 39 3a0d & BRI, -8 TR 3T 0.5 m BT G W, JIB1T &3 ST IRET0 gr

1.4x10°T
2.5x10°8T
3.6x10°8T
4.2x10°8T

Options :

2268952602306. 1
2268952602307. 2
2268952602308. 3
2268952602309. 4

Question Number : 154 Question Id : 226895671240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A conductor is placed along z-axis carrying current in z direction in uniform magnetic field directed along y-axis. The
magnetic force acting on the conductor is directed along:

1. positive x-axis
2. positive y-axis
3. positive z-axis
4. negative x-axis

Options :

2268952602310. 1
2268952602311. 2
2268952602312. 3
2268952602313. 4

Question Number : 154 Question Id : 226895671240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



y-31&1 & 3few ey touaH duai e H, - & 4RI & a6 ®, Uh A1a® B z- & & SIS @ T 8| I6E IR
SR Jaoiy g fus erfe Ay g &2

1. 4T D x-HE
2. Y-THD y-3HE
3. YT D 238
4, BUNHD x-H&l

Options :

2268952602310. 1
2268952602311. 2
2268952602312. 3
2268952602313. 4

Question Number : 155 Question Id : 226895671241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A galvanometer of resistance 520 Q0 is shunted with 20 Q resistance to convert it into an ammeter. The resistance of the
ammeter will be

1.168 Q
2.5400
3.193 0
4.180

Options :

2268952602314. 1
2268952602315. 2
2268952602316. 3
2268952602317. 4

Question Number : 155 Question Id : 226895671241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

520  UfaTY & U TeaHiex @l wiiex # ultafdd @ & e 20 & ufaRiy & gy urfufiy @ie) fearmrgl 39
uHiex &1 ufasly g

1.16.6 Q
2.5400
3.19.3 Q
4.180

Options :

2268952602314. 1
2268952602315.2
2268952602316. 3
2268952602317. 4

Question Number : 156 Question Id : 226895671242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The magnitude of magnetic field inside a solencid of length 0.3 m having 800 turns carrying a current of 6 A is

12037
2.60.3 mT
3. 20 mT
4.6.03T

Options :

2268952602318. 1
2268952602319. 2
2268952602320. 3
2268952602321. 4

Question Number : 156 Question Id : 226895671242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

800 W1 aTell, 0.3 m W4T 3R 6 A B YR Halfed Us URATTIS] & HEX daHd &3 & Ui &

1. 203T
2.60.3 mT
3.20 mT
4.6.03T

Options :

2268952602318. 1
2268952602319. 2
2268952602320. 3
2268952602321. 4

Question Number : 157 Question Id : 226895671243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A charged particle accelerated through a potential difference of V volts acquires a speed v. The particle is then made to
enter perpendicularly in a uniform magnetic field B, The radius of the circular path followed by the charged particle will
be proportional to

1. V/u
2.u/V
3.V
4, UENz

Options :

2268952602322. 1
2268952602323. 2
2268952602324. 3
2268952602325. 4

Question Number : 157 Question Id : 226895671243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



v diee & [aHaRR 4 @Rd Ud SHTdIR B 91e o WIS &3l & | GeT Ul &l dadd: Uh UhHHH dadig &F B H 4wl
T 91l & | 1A &0 & gRT SaRd queR Uy & Hied feogd gaeuiae gri?
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Options :

2268952602322. 1
2268952602323. 2
2268952602324. 3
2268952602325. 4

Question Number : 158 Question Id : 226895671244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Figure shows a coil C connected to a galvanometer G. When the North-pole of a bar magnet is pushed towards the
coil, the pointer in the galvanometer deflects. Regarding this set up, the following statements are given:

(A) It indicates the presence of electric current in the coil.
(B) The deflection is found to be smaller when the magnet is pushed towards the coil faster.

{C) There is repulsion in the moving magnet and the magnetic pole induced in the coil facing towards the N pole of the
magnet.

(D) If the bar magnet does not move, there is no induced current in the coil.
Choose the correct answer from the options given below:

1. (A), (C) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952602326. 1
2268952602327.2
2268952602328. 3
2268952602329. 4

Question Number : 158 Question Id : 226895671244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : S Wrong Marks : 1
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Options :

2268952602326. 1
2268952602327.2
2268952602328. 3
2268952602329. 4
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Figure shows a rectangular conductor PQRS in which the conductor PQ: is free to move. The conductor PQ is moved
towards the left with a constant velocity V as shown in the figure. Assume that there is no loss of energy due to friction.
What will be the magnetic flux linked with the loop PQRS and the motional emf?

1. Magnetic flux = BI(xV); Motional emf = Bix
2. Magnetic flux = Blx; Motional emf = (BIV) /1
3. Magnetic flux = Blx: Motional emf = BIV

4. Magnetic flux = B/(Ix); Motional emf = BIV

Options :

2268952602330. 1
2268952602331.2
2268952602332. 3
2268952602333. 4

Question Number : 159 Question Id : 226895671245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. GEBI T = Bi(xV) ; Td® [4GYd TP &4 (emf) = Blix
2. IO T = iy ; Mia® fdgdd 96® §d (emf) = (BIV)/t
3. I TIHY = Biy ; Tidd [9¢d I8P 9d (emf) = BIV

4, DI TA9H = B/(1x) ; Tidw f9ggd d8® 9 (emf) = BIV

Options :

2268952602330. 1
2268952602331.2
2268952602332. 3
2268952602333. 4



Question Number : 160 Question Id : 226895671246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The average emf induced in a coil is 2 V when current is changed in 0.4 s
{A) from 5 A to 2 A and the self-inductance of the coil is 0.266 mH

(B) from 4 A to 4 A in the opposite direction, the self-inductance of the coil is 0.10 mH

1. (A) is correct, (B) is incorrect
2. Both (A) and (B) are correct
3. (A) is incarrect, (B) is correct
4. Both (A) and (B) are incorrect

Options :

2268952602334. 1
2268952602335.2
2268952602336. 3
2268952602337. 4

Question Number : 160 Question Id : 226895671246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952602334. 1
2268952602335. 2
2268952602336. 3
2268952602337. 4



Question Number : 161 Question Id : 226895671247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

An inductor of 500 mH is in series with a resistance and a variable capacitor connected to a source of frequency 0.4
kHz. The value of capacitance of the capacitor to get a maximum current will be

1.2.3 pF
2.032 uF
3.63 pF
4.0.62 pF

Options :

2268952602338. 1
2268952602339.2
2268952602340. 3
2268952602341. 4

Question Number : 161 Question Id : 226895671247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

500 mH @1 U W, Ts Hiauy iR Ue uRadl Guiiey & Ty 9uit-50 § Sgft 0.40 kHz & U @i § 9aifod 8
ST URT U S b 8 Gt ST «1iar &1 A gim

1.23 uF
2.032 uF
3.63 uF
4.0.62 pF

Options :

2268952602338. 1
2268952602339.2
2268952602340. 3
2268952602341. 4

Question Number : 162 Question Id : 226895671248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A 12 V battery connected to a 6 Q, 10 mH coil through a switch drives a constant current in the circuit. The switch is
suddenly opened. Assuming that it took 1 ms to open the switch, the average emf induced across the coil would be

1.10V
2.20V
3.200V
4,12V

Options :

2268952602342. 1
2268952602343. 2
2268952602344. 3
2268952602345. 4

Question Number : 162 Question Id : 226895671248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.10V
2.20V
3.200V
4,12V

Options :

2268952602342. 1
2268952602343. 2
2268952602344. 3
2268952602345. 4

Question Number : 163 Question Id : 226895671249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

For an ac source rated at 220 V, 50 Hz, which of the following statements is correct?

1. The peak value over a period of (1/50) s is 220 V.

2. The average value over a period of (1/50) s is 220 V.

3. The average value over a period of (1/50) s is 0 V.

4. The average value over a period of (1/50) s is 220,/7 V.

Options :

2268952602346. 1
2268952602347. 2
2268952602348. 3
2268952602349. 4

Question Number : 163 Question Id : 226895671249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

220V, 50 Hz TR YR 0% ac 90 & fou, Fofafaa d € o8 91 sy 981 &7

1. (1/50) s @1 3@fd # fRReR 7 220 v B
2.(1/50) s @1 afy H 3f19d 99 220 V &
3. (1/50) s @1 @Y H T AH 0 V B

4. (1/50) s @1 3afd T 39d 919 220v2 V &

Options :

2268952602346. 1
2268952602347.2
2268952602348. 3
2268952602349. 4

Question Number : 164 Question Id : 226895671250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following statements is not correct for electromagnetic induction?

1. The magnitude of induced emf in a circuit is equal to the time rate of change of magnetic flux through the circuit.

2. The magnitude of induced emf in a circuit is equal to the total change of magnetic flux through the circuit.

3. The induced emf can be increased by increasing the number of turns N of a closed coil.

4. The polarity of induced emf is such that it tends to produce a current which opposes the change in magnetic flux
that produced it

Options :

2268952602350. 1
2268952602351. 2
2268952602352 3
2268952602353. 4

Question Number : 164 Question Id : 226895671250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952602350. 1
2268952602351.2
2268952602352. 3
2268952602353. 4

Question Number : 165 Question Id : 226895671251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Maxwell's displacement current is

1. due to flow of charges

2. due to changing gravitational field

3. due to changing electric fieid

4. gg times the rate of change of magnetic flux

Options :

2268952602354. 1
2268952602355.2
2268952602356. 3
2268952602357. 4

Question Number : 165 Question Id : 226895671251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952602354. 1
2268952602355.2
2268952602356. 3
2268952602357. 4

Question Number : 166 Question Id : 226895671252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11
(Electromagnetic waves) (Wavelength range )
(&) X-rays (I) Tmm to 700 nm
(B) Radio waves (I 0.1m to 1 mm

(C) Infrared waves (1) Tnm to 107 nm
(D) Microwaves (V) > 0.1 m

Choose the correct answer from the options given below:

1.(A) - (1V), (B) - (1), (C) - (1), (D) - (1)
2. (A) - (0, (B) - (1), (C) - (), (D) - (V)
3. (A) - (1), (B) - (1), (C) - (V). (D) - (i)
4. (A) - (), (B) - (V). (Q) - (), (D) - (1)

Options :

2268952602358. 1
2268952602359. 2
2268952602360. 3
2268952602361. 4
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Correct Marks : S Wrong Marks : 1
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(C) 3a%ad Tl (I 1 nm ¥ 1073 Am
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1. (A)-(V), (B)-(1). (T)-(1), (D)-(1)
2. (A)-(). (B)-(1n, (©)-(n, (D)-(1V)
3. (A)-(1. (B)=(1). (Q)-(1V). (D)-(111)
4. (A)-(1), (B)-(V), (©-(1). (O)-(1D

Options :

2268952602358. 1
2268952602359. 2
2268952602360. 3
2268952602361. 4

Question Number : 167 Question Id : 226895671253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The electric field F associated with a progressive electromagnetic wave is given by E = Eysin(kz — wt). If g, is the
amplitude of the magnetic field associated with the wave, then

1EU w
By K
2B &
B, k?
E k
gt
By w
4B _¥
B, w?
Options :

2268952602362 1
2268952602363. 2
2268952602364. 3
2268952602365. 4
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Options :

2268952602362. 1
2268952602363. 2
2268952602364. 3
2268952602365. 4

Question Number : 168 Question Id : 226895671254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following statements are correct?
{A) All mirrors follow the laws of reflection.

(B) The angle between the ray of incidence and the plane surface of the mirror is equal to the angle between the plane
surface of mirror and the ray of reflection for plane mirror

{C) the rays coming parallel to the principal axis will go after reflection through the focus of the curved mirror

(D) the rays coming to the pole of a curved mirror making an angle with axis will be reflected making the equal angle
with the axis on the other side of the axis.

Choose the correct answer from the options given below:

1. (&), (B), (C) and (D)

2.(A), (C) and (D) only
3. (A), (B) and (C) only
4. (B), (C) and (D) only

Options :

2268952602366. 1
2268952602367. 2
2268952602368. 3
2268952602369. 4

Question Number : 168 Question Id : 226895671254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
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Correct Marks : S Wrong Marks : 1
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1. (A), (B), (C) 3TR (D)

2.%ad (4), (O) 3R (D)
3. 5ad (A), (B) AR (O)
4.%ad (), (C) 3R (D)

Options :

2268952602366. 1
2268952602367.2
2268952602368. 3
2268952602369. 4

Question Number : 169 Question Id : 226895671255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following statement(s) is/are correct?

{A) The power of a lens is the ability of the lens to converge or diverge the incident rays.

(B) S.I unit of the power of a lens is dioptre while focal length is in centimetres

{C) For a lens of larger focal length, power is smaller

(D) In any combination of lenses, the power of combination is not algebraic addition of power of combined lenses
Choose the correct answer from the options given below:

1. {(A) and (C) only

2. (B}, (C) and (D) only
3. (A) and (B) only

4. (A) only

Options :

2268952602370. 1
2268952602371.2
2268952602372. 3
2268952602373. 4

Question Number : 169 Question Id : 226895671255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.%ad (A) AR (©)
2.%4d (B), (C) 3R (D)
3. Had (A) 3R (B)
4.5Had (A)

Options :

2268952602370. 1
2268952602371.2
2268952602372. 3
2268952602373. 4

Question Number : 170 Question Id : 226895671256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In an experiment with a convex lens, the length of an image is 1 cm, and the object length is 5 cm. If the object is
placed at a distance of 40 cm from the lens, then the focal length of the lens is

1.6.67 cm
2.13.5cm
3.56cm
4.36 cm

Options :

2268952602374 1
2268952602375.2
2268952602376. 3
2268952602377. 4

Question Number : 170 Question Id : 226895671256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

U 39 od 4 UGIT H, UF Uidfets &1 6 1 om & IR 99 &1 d418 5 cm 1 3G M @i g ¥ 40 cm B 31 TR T
Sl &, I o @1 Biod gl 8

1. 6.67 cm
2.13.5cm
3.5.6cm
4. 3.6cm

Options :

2268952602374. 1
2268952602375. 2
2268952602376. 3
2268952602377. 4



Question Number : 171 Question Id : 226895671257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In a Young's double-slit experiment, two slits are 1.5 mm apart while the screen is 1.2 m away. When a light of
wavelength 600 nm is incident on slits, the fringe width will be

1.0.48 mm
2.45 mm
3.4.8 mm
4.42 mm

Options :

2268952602378. 1
2268952602379.2
2268952602380. 3
2268952602381. 4

Question Number : 171 Question Id : 226895671257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

T o U fg- 3R Rt H, &l 2Rl 1.5 mm @1 gl IR & 96l URG1 1.2 m G2 61 18 di1ged 600 nm 1 W1l 314l 1)
i gidl &, dl sl &1 dIsTs BFN

1. 048 mm
2.4.5 mm
3.4.8 mm
4.42 mm

Options :

2268952602378. 1
2268952602379. 2
2268952602380. 3
2268952602381. 4

Question Number : 172 Question Id : 226895671258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The critical angle of incidence i, for a ray incident from a denser to rarer medium, is that angle for which

1. the angle of reflection is 90°
2. the angle of refraction is 80°
3. the angle of refraction is 0°
4. the angle of reflection is 0°

Options :

2268952602382. 1
2268952602383.2
2268952602384. 3
2268952602385. 4

Question Number : 172 Question Id : 226895671258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. Q1G0T DI 90° §
2. 3{UdcH @I 90° §
3. 3UacH BV 0° B
4. QGG DI 0° 8

Options :

2268952602382. 1
2268952602383.2
2268952602384. 3
2268952602385. 4

Question Number : 173 Question Id : 226895671259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A polaroid sheet is rotated between two crossed polarizers. The intensity of transmitted light would be maximum,
when the angle between the axes of the first polarizer and the polaroid sheet is

1.7w/2
2. q/4
3n

4. 7/3

Options :

2268952602386. 1
2268952602387. 2
2268952602388. 3
2268952602389. 4

Question Number : 173 Question Id : 226895671259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.m/2
2. /4
3.

4. 7/3

Options :

2268952602386. 1
2268952602387. 2
2268952602388. 3
2268952602389. 4

Question Number : 174 Question Id : 226895671260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following statements are correct?
(&) Total internal reflection occurs when a ray of light travels from a rarer transparent medium to a denser medium.
(B) In total internal reflection, the incident ray of light remains in the same medium after reflection.

{C) In total internal reflection, the angle of incidence inside the denser transparent medium is equal to the angle of
reflection in the same medium.

(D) In total internal reflection inside a denser medium there is no angle of refraction
Choose the correct answer from the options given below:

1. (B) and (C) only
2. (A) and (B) only
3. (B), (C) and (D) only
4. (C) and (D) only

Options :

2268952602390. 1
2268952602391. 2
2268952602392. 3
2268952602393. 4

Question Number : 174 Question Id : 226895671260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.®ad (B) 3R (Q)
2.%ad (A) 3R (B)
3. Had (B), (C) 3R (D)
4.%ad (C) 3R (D)

Options :

2268952602390. 1
2268952602391. 2
2268952602392. 3
2268952602393. 4

Question Number : 175 Question Id : 226895671261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



If focal length of a concave lens is 50 cm, then the power of the lens would be

1.+5D
2.-5D
3.+2D
4.-2D

Options :

2268952602394. 1
2268952602395. 2
2268952602396. 3
2268952602397. 4

Question Number : 175 Question Id : 226895671261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

g% U% Haad o @1 BIed g3 50 cm &, 1 39 oY @1 fad giit

1.+5D
2.-5D
3.+2D
4.-2D

Options :

2268952602394. 1
2268952602395. 2
2268952602396. 3
2268952602397. 4

Question Number : 176 Question Id : 226895671262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The photoelectric current is directly proportional to the number of photo electrons emitted per second. This implies
that

1. the number of photoelectrons emitted per second is equal to the frequency of incident radiation.

2. the number of photoelectrons emitted per second is inversely proportional to the intensity of incident radiation.
3. the number of photoelectrons emitted per second is directly proportional to the intensity of incident radiation.
4. the number of photoelectrons emitted per second is not related to the intensity of incident radiation.

Options :

2268952602398. 1
2268952602399. 2
2268952602400. 3
2268952602401. 4

Question Number : 176 Question Id : 226895671262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



ToRI-faggd 4R, Wid Ydhs Scfoid UBRI-Soaci-l & el & U4 THEAR! sidl o | 39 aiad 9 § 1

1. el Yebs Icafold Ubr=I-geiae -l i T sfufd fafe=ul &1 sy & s&R sidl &

2. Wifd Ths Ifoid H@TRI-Saiae -1 il Tl Tufad [afhul &I digal & ogeparaId! eial ol
3. Ui Y Il UBIRI-geiae i Bl ST SH1gidd fafdh=ul &1 digdl o e FHTd sidl g1
4. Wifd T s Ifoia U@TRI-gaiae -1 &l U1 fTufad fafewu ®f digar § Yefid el aidl o

Options :

2268952602398. 1
2268952602399. 2
2268952602400. 3
2268952602401. 4

Question Number : 177 Question Id : 226895671263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The de-Broglie wavelength associated with a ball of mass 150 g traveling at 30.0 m/s would be

1.147x 10 m
2.147x10# m
3.0147x 10 m
4.714% 103 m

Options :

2268952602402. 1
2268952602403. 2
2268952602404. 3
2268952602405. 4

Question Number : 177 Question Id : 226895671263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

30.0 m/s Y TIRAAM 150 g SO0H @1 715 § TS &-ave aoree gl

1.147 x 10 m
2.147x10# m
3.0.147 x 1073 m
4.714x10#m

Options :

2268952602402. 1
2268952602403. 2
2268952602404. 3
2268952602405. 4

Question Number : 178 Question Id : 226895671264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following statements are correct?

(A) A nucleus of mass number A has a radius R given by the expression R = R A3
(B) Volume of nucleus is proportional to mass number A

(C) The density of nucleus increases with the radius of nucleus.

(D) Density of nuclear matter does not depend on its mass number A

Choose the correct answer from the options given below:

1. (&), (B) and (C) only
2. (A), (B), (C) and (D)
3.(A) (B)and (D) only
4. (B} and (C) only
Options :
2268952602406. 1
2268952602407. 2
2268952602408. 3
2268952602409. 4

Question Number : 178 Question Id : 226895671264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

fFafeiad # € ®F J By 981 87

(A) FoOEH 91 A & fardl AT &1 B9 R @] od9i® R = R,A12 R odad [T 9Tdl & |
(B) THD BT AT SoFHH U= A B FAETE! ¢

(C) T &I U@ 1S B Biod & 91y 9gdl 8

(D) T T 557 &1 97 s98! aoudH B8 A R ik Tl s gl

it feu iy faeedl § 9 wel I I

1.%4d (A), (B) 3R (Q)
2.(A), (B), () 3R (D)
3. Had (A), (B) 3R (D)
4. %ad (B) 3R (C)

Options :

2268952602406. 1
2268952602407. 2
2268952602408. 3
2268952602409. 4

Question Number : 179 Question Id : 226895671265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



An electron in the ground state of a hydrogen atom absorbs 12.09 eV energy. The angular mementum of the electron
increases by

1. (h/2m)

2. 2(h/21)
3. 3(h/2m)
4, 4{h/27)

Options :

2268952602410. 1
2268952602411. 2
2268952602412. 3
2268952602413. 4

Question Number : 179 Question Id : 226895671265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

U gIgolo URHTY &I HHaH Ha® H Uh SaideH 12.09 eV il &l Haitd Hdl ¢ | 39 goidgH b SIviiyg Udi fba-
T §¢ rdl 82

1. (h/2m)

2. 2(h/2m)
3. 3(h/2m)
4. 4(h/2m)

Options :

2268952602410. 1
2268952602411. 2
2268952602412. 3
2268952602413. 4

Question Number : 180 Question Id : 226895671266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following statements are correct?

{A) The electrostatic repulsive force between the protons can be greater than the nuclear force to bind the nucleons
together inside a nucleus.

(B)The repulsive electrostatic force between protons in smaller nuclei is much smaller than the nuclear force between
nucleons inside a nucleus.

(C) The gravitational force between nucleons is much smaller than the nuclear force between the nucleons inside a
nucleus.

(D) The binding energy per nucleocn between nucleons is almost constant because the nuclear force is a long range
force.

Choose the correct answer from the options given below:

1. (A) and (D) only
2. (B) and (C) only
3. (C) and (D) eonly
4. (A) only

Options :



2268952602414. 1
2268952602415.2
2268952602416. 3
2268952602417. 4

Question Number : 180 Question Id : 226895671266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Ffaead 7 9 o1 9 $yF w81 82

(A) UIeH! & o9 RRRIaqgd Uaayu ad, A & e GiaasHi @ Uh 9y ditd o i Aisiy |, 9 $Hibd gl Gl
gl

(B) BI¢ DI H UieH! & ol RRiagyd Wiasyu ad, s & siex Gldas(Hl  dia @Y 9d, B go- § g9gd
HHE B

(C) il & did TF@IdyU ga, NS & Sie Gfaaaii-l & did AHSIG §d, B g1 H 9gd &H oidl o
(D) AT & die Hia Gfdasia du- el a1 Fgd Bidl & & AHS 90 U aid WRIe & 9 g
rd fau e faded! # § |Et IW g

1.9ad (A) 3R (D)
2.%ad (B) IR (C)
3. %44 (C) AR (D)
4.%ad (A)

Options :

2268952602414. 1
2268952602415.2
2268952602416. 3
2268952602417. 4

Question Number : 181 Question Id : 226895671267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Below given are some statements about electrenic devices:

{A) Diodes can be used for rectifying an ac voltage .

(B) For semiconductors, band gap energy E; > 3 eV.

{C) By changing the external applied voltage, junction barriers can be changed.
(D) p-n junction is the 'key’ to all semiconductor devices.

Choose the correct answer from the opticns given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (B), (C) and (D) only
4. (A), (C) and (D) only
Options :
2268952602418. 1
2268952602419. 2
2268952602420. 3
2268952602421. 4



Question Number : 181 Question Id : 226895671267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

el Afddl & v # pv Tu e Rg e E

(A) STIS! B IUTNT ac dieed & [GPHIU & foU [l off Gohdl 6l

(B) SfElaTEi| & foU 'S S 34 £g > 3 eV Bl 81

(C) ITR SFIVgE dlces ® URakid dds, SRR &1 gRafdd fdan 1 g gl
(D) p-n Ty T2t Sreferae® gfdadl &1 Fei 81

fu fer T fowedl § 9 98t S| I

1.%4d (A), (B) 3R (D)
2.%4d (A), (B) 3R (Q)
3.%4d (8), (C) 3R (D)
4.%4d (A), (C) 3R (D)

Options :

2268952602418. 1
2268952602419. 2
2268952602420. 3
2268952602421. 4

Question Number : 182 Question Id : 226895671268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

On connecting a device X in a series circuit with a battery and a resistor, a current passes through the circuit. On
reversing the polarity of the battery, the current in the circuit drops to almost zero. The device X may be a

1. p - type semiconductor
2. n - type semiconductor
3. p-n junction diode

4. capacitor

Options :

2268952602422. 1
2268952602423. 2
2268952602424. 3
2268952602425. 4

Question Number : 182 Question Id : 226895671268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

S gfad x @I Uh Aiag ooy ¥ Us 9t 3R Ue uieRiue & 91y Yaiford @3- 1R, U 4R1 9oy o yarfed eidl o |
S8 of ydigd & Ided UT, TRy T 4RI G4 I 9% R S 81 4fad X 8 9adl & e

1. p-UBR B JfeiATa®
2. n-UBR &1 HdIcTd
3.p-n oy s[s

4. GEIA

Options :



2268952602422. 1
2268952602423.2
2268952602424. 3
2268952602425. 4

Question Number : 183 Question Id : 226895671269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Which of the following statement(s) is/are true for p-type semiconductors?
{A) Holes are minaority carriers and pentavalent atoms are the dopants.
(B) Electrons are majority carriers and trivalent atoms are the dopants.
(C) Holes are majority carriers and trivalent atoms are the dopants.
(D) Electrons are minority carriers and pentavalent atoms are the dopants.
Choose the correct answer from the options given below:

1. (B) only
2. (C) only
3. (C) and (D) only
4. (A) and (C) only

Options :

2268952602426. 1
2268952602427. 2
2268952602428. 3
2268952602429. 4

Question Number : 183 Question Id : 226895671269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fafefad § ¥ o1 914 $U p-UPR & Hamid] & o 94 8/87
(A) BIST HeUUEAD dled & SR Uaydrel UHIY] HUls® 5|

(B) STIGE |- Sg U dTe® & 1R AUYIel GHI] HUFIHE
(C) BIT S5 U A5 & AR BIEgISl URHI] Sufisd &

(D) SCIaEIH SHeUUEIS dIed o SR YaUdisl GIaT] Uit 5|
fu fer T faeedl § 9 9dt S| I

1.®Had (B)
2.%ad ()
3.%4ad (C) IR (D)
4. %ad (A) AR (O

Options :

2268952602426. 1
2268952602427. 2
2268952602428. 3
2268952602429. 4

Question Number : 184 Question Id : 226895671270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

In the following nuclear reaction,
1 235 140 a 1
on + 93U = *2iXe + §Sr+ 2 n we have

Tl.a=38,b=94
Z.a=94, h=38
3.a=94b=40
4.q=96 b=38

Options :

2268952602430. 1
2268952602431. 2
2268952602432. 3
2268952602433. 4

Question Number : 184 Question Id : 226895671270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Fafafad e siftfear

1 235 140 N 1
ot + “g3U = "L Xe+ pSr+ 2gn L

¥

l.a=38 b=9
2.a=94b=238
3.a=94 b=40
4.a=96b=38

Options :

2268952602430. 1
2268952602431. 2
2268952602432. 3
2268952602433. 4

Question Number : 185 Question Id : 226895671271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

A proton accelerated through a potential difference of V volts has a de-Broglie wavelength A associated with it. In
order to get the same wavelength associated with an a-particle, the required accelerating potential is

1.V/16
2.V/8
3.4V
4.8V

Options :

2268952602434. 1
2268952602435.2
2268952602436. 3
2268952602437. 4

Question Number : 185 Question Id : 226895671271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.V/16
2.V/8
3.4V
4.8V

Options :

2268952602434. 1
2268952602435. 2
2268952602436. 3
2268952602437. 4



